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Exercise 10
Give the LTS of a*(b+c)
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RegExp & their operational semantics
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Example .
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A formal model of concurrency [Bergstra et al.]

From regular expressions to process algebras: a model of concurrency
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Equivalences of concurrent programs

S = (euro.tea + euro.coffee).collect
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T = euro.(tea + coffee).collect
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- S and T have the same traces (words), but they differ if interpreted as reactive systems

- For reactive systems, bisimulation is a better notion of equivalence than language (trace) equivalence

Def. Given an LTS T, a binary relation B on the states of T is a bisimulation if whenever (s1,s2) are in B

- for all s1 --a--> s1' there is s2 --a--> s2' such that (sl1',s2') is in B and
- for all s2 --a--> s2' there is s1 --a--> s1' such that (sl1',s2') is in B

Exercise 11
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Let S and T as in the example of the vending machine above. Show that there is no bisimulation containing the pair (S,T).




Recap of the previous class

Structural Operational Semantics
- regexp
- bpa

Concurrency as interleaving

Equivalences for concurrency



What about communication?
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